## **BID TABULATIONS**

Contract No:DH00304

WBS No:44854.3.1

County:Hoke

Construct Roundabout on US 15-501 and SR 1225 (Ashemont Road)

Bid Opening Date: 2/08/2022 at 2:00 PM

				FSC II LLC DBA FRED SMITH					
TTT ( ) I O	TTEN 4		LDUTE		MPANY		NTRACTING CO		AVING INC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID		AMOUNT BID	UNIT PRICE	AMOUNT BID
1	MOBILIZATION	1.00	LS	\$114,000.00		\$117,000.00	\$117,000.00	,	\$143,000.00
2	UNDERCUT EXCAVATION	300.00	CY	\$65.00	\$19,500.00	\$64.00	\$19,200.00	\$35.00	\$10,500.00
3	GRADING	1.00	LS	\$591,194.00	\$591,194.00	\$563,305.00	\$563,305.00	\$909,000.00	\$909,000.00
4	SUPPLEMENTARY CLEARING & GRUB-BING	1.00	ACR	\$1.00	\$1.00	\$8,700.00	\$8,700.00	\$1,000.00	\$1,000.00
5	SELECT BORROW MATERIAL	370.00	CY	\$28.00	\$10,360.00	\$33.50	\$12,395.00	\$30.00	\$11,100.00
6	DRAINAGE DITCH EXCAVATION	60.00	CY	\$30.00	\$1,800.00	\$70.00	\$4,200.00	\$50.00	\$3,000.00
7	SELECT GRANULAR MATERIAL	300.00	CY	\$28.00	\$8,400.00	\$88.00	\$26,400.00	\$42.00	\$12,600.00
8	GEOTEXTILE FOR SOIL STABILIZA-TION	1,000.00	SY	\$3.00	\$3,000.00	\$5.00	\$5,000.00	\$3.50	\$3,500.00
9	Generic Grading Item - Hauling and Disposal of Petroleum Contaminated Soil	415.00	TON	\$120.00	\$49,800.00	\$85.00	\$35,275.00	\$95.00	\$39,425.00
10	FOUNDATION CONDITIONING MATE- RIAL, MINOR STRUCTURES	140.00	TON	\$30.00	\$4,200.00	\$55.00	\$7,700.00	\$50.00	\$7,000.00
11	FOUNDATION CONDITIONING GEO- TEXTILE	420.00	SY	\$4.00	\$1,680.00	\$5.00	\$2,100.00	\$5.00	\$2,100.00
12	15" SIDE DRAIN PIPE	68.00	LF	\$70.00	\$4,760.00	\$93.00	\$6,324.00	\$65.00	\$4,420.00
13	15" RC PIPE CULVERTS, CLASS IV	276.00	LF	\$75.00	\$20,700.00	\$80.50	\$22,218.00	\$75.00	\$20,700.00
14	18" RC PIPE CULVERTS, CLASS IV	404.00	LF	\$80.00	\$32,320.00	\$97.50	\$39,390.00	\$78.00	\$31,512.00
15	24" RC PIPE CULVERTS, CLASS IV	440.00	LF	\$105.00	\$46,200.00	\$111.50	\$49,060.00	\$106.00	\$46,640.00
16	30" RC PIPE CULVERTS, CLASS IV	104.00	LF	\$135.00	\$14,040.00	\$166.00	\$17,264.00	\$155.00	\$16,120.00
17	PIPE REMOVAL	205.00	LF	\$25.00	\$5,125.00	\$20.00	\$4,100.00	\$155.00	\$31,775.00
18	AGGREGATE BASE COURSE	410.00	TONS	\$45.00	\$18,450.00	\$50.00	\$20,500.00	\$45.00	\$18,450.00
19	INCIDENTAL STONE BASE	170.00	TONS	\$45.00	\$7,650.00	\$59.00	\$10,030.00	\$45.00	\$7,650.00
20	1.5" Milling	880.00	SY	\$10.00	\$8,800.00	\$13.50	\$11,880.00	\$17.00	\$14,960.00
21	INCIDENTAL MILLING	710.00	SY	\$11.00	\$7,810.00	\$15.00	\$10,650.00	\$31.35	\$22,258.50
22	ASPHALT CONC BASE COURSE, TYPE B25.0C	2,170.00	TONS	\$90.00	\$195,300.00	\$89.00	\$193,130.00	\$104.00	\$225,680.00
	Rid Tah						Day	ze 1 of 4	

Bid\_Tab Page 1 of 4

					BA FRED SMITH MPANY	RAPNHII I CON	NTRACTING CO	HUDSON	PAVING INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
23	ASPHALT CONC INTERMEDIATE COURSE, TYPE 119.0C	1,250.00	TONS	\$100.00	\$125,000.00	\$91.00	\$113,750.00	\$115.00	\$143,750.00
24	ASPHALT CONC SURFACE COURSE, TYPE S9.5C	1,420.00	TONS	\$85.00	\$120,700.00	\$103.50	\$146,970.00	\$129.00	\$183,180.00
25	ASPHALT BINDER FOR PLANT MIX	243.00	TONS	\$600.00	\$145,800.00	\$536.00	\$130,248.00	\$635.00	\$154,305.00
26	ASPHALT PLANT MIX, PAVEMENT REPAIR	50.00	TONS	\$190.00	\$9,500.00	\$256.00	\$12,800.00	\$375.00	\$18,750.00
27	MILLED RUMBLE STRIPS (ASPHALT CONCRETE)	280.00	LF	\$5.00	\$1,400.00	\$27.00	\$7,560.00	\$30.00	\$8,400.00
28	RIGHT-OF-WAY MARKERS	18.00	EA	\$450.00	\$8,100.00	\$400.00	\$7,200.00	\$475.00	\$8,550.00
29	PIPE COLLARS	0.60	CY	\$3,000.00	\$1,800.00	\$7,650.00	\$4,590.00	\$5,000.00	\$3,000.00
30	MASONRY DRAINAGE STRUCTURES	18.00	EA	\$4,300.00	\$77,400.00	\$4,575.00	\$82,350.00	\$4,500.00	\$81,000.00
31	MASONRY DRAINAGE STRUCTURES	5.00	LF	\$520.00	\$2,600.00	\$1,325.00	\$6,625.00	\$4,500.00	\$22,500.00
32	FRAME WITH TWO GRATES, STD 840.16	2.00	EA	\$965.00	\$1,930.00	\$1,755.00	\$3,510.00	\$1,200.00	\$2,400.00
33	FRAME WITH TWO GRATES, STD 840.29	3.00	EA	\$1,730.00	\$5,190.00	\$1,300.00	\$3,900.00	\$1,200.00	\$3,600.00
34	FRAME WITH GRATE & HOOD, STD 840.03, TYPE **E	3.00	EA	\$1,000.00	\$3,000.00	\$965.00	\$2,895.00	\$950.00	\$2,850.00
35	FRAME WITH GRATE & HOOD, STD 840.03, TYPE **F	4.00	EA	\$1,000.00	\$4,000.00	\$1,290.00	\$5,160.00	\$850.00	\$3,400.00
36	FRAME WITH GRATE & HOOD, STD 840.03, TYPE **G	5.00	EA	\$1,000.00	\$5,000.00	\$1,175.00	\$5,875.00	\$850.00	\$4,250.00
37	FRAME WITH COVER, STD 840.54	1.00	EA	\$815.00	\$815.00	\$1,545.00	\$1,545.00	\$800.00	\$800.00
38	CONCRETE TRANSITIONAL SECTION FOR DROP INLET	2.00	EA	\$1,200.00	\$2,400.00	\$2,765.70	\$5,531.40	\$500.00	\$1,000.00
39	1'-6" CONCRETE CURB & GUTTER	300.00	LF	\$21.00	\$6,300.00	\$21.50	\$6,450.00	\$30.00	\$9,000.00
40	2'-6" CONCRETE CURB & GUTTER	1,320.00	LF	\$25.00	\$33,000.00	\$35.50	\$46,860.00	\$26.00	\$34,320.00
41	CONCRETE EXPRESSWAY GUTTER	375.00	LF	\$41.00	\$15,375.00	\$40.40	\$15,150.00	\$40.00	\$15,000.00
42	4" CONCRETE ISLAND COVER	730.00	SY	\$41.00	\$29,930.00	\$67.00	\$48,910.00	\$40.00	\$29,200.00
43	5" MONOLITHIC CONCRETE ISLANDS(KEYED IN)	340.00	SY	\$71.00	\$24,140.00	\$116.00	\$39,440.00	\$90.00	\$30,600.00
44	GENERIC PAVING ITEM 7" Conc Truck Apron	370.00	SY	\$77.00	\$28,490.00	\$143.20	\$52,984.00	\$115.00	\$42,550.00
45	RIP RAP, CLASS B	13.00	TON	\$115.00	\$1,495.00	\$115.00	\$1,495.00	\$125.00	\$1,625.00
46	GEOTEXTILE FOR DRAINAGE	263.00	SY	\$5.00	\$1,315.00	\$5.00	\$1,315.00	\$6.00	\$1,578.00
47	WORK ZONE SIGNS (STATIONARY)	484.00	SF	\$8.50	\$4,114.00	\$6.25	\$3,025.00	\$7.50	\$3,630.00
48	WORK ZONE SIGNS (PORTABLE)	176.00	SF	\$28.00	\$4,928.00	\$15.00	\$2,640.00	\$8.85	\$1,557.60
49	WORK ZONE SIGNS (BARRICADE MOUNTED)	186.00	SF	\$12.00	\$2,232.00	\$6.10	\$1,134.60	\$6.00	\$1,116.00
50	PORTABLE CHANGEABLE MESSAGE SIGN	4.00	EA	\$5,000.00	\$20,000.00	\$785.00	\$3,140.00	\$10,900.00	\$43,600.00
				Bid Tab				D:	age 2 of 4

Bid\_Tab Page 2 of 4

					BA FRED SMITH IPANY	BARNHILL CONTRACTING CO		HUDSON PAVING INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID		AMOUNT BID	UNIT PRICE	AMOUNT BID
	DRUMS	80.00	EA	\$60.00	\$4,800.00		\$3,360.00	\$60.00	\$4,800.00
	CONES	60.00	EA	\$25.00	\$1,500.00	·	\$1,800.00	\$45.00	\$2,700.00
53	BARRICADES (TYPE III)	136.00	LF	\$30.00	\$4,080.00	·	\$3,196.00	\$25.00	\$3,400.00
54	FLAGGER	70.00	DAY	\$600.00	\$42,000.00		\$33,250.00	\$850.00	\$59,500.00
	SKINNY DRUM	50.00	EA	\$50.00	\$2,500.00	·	\$1,875.00	\$60.00	\$3,000.00
56	THERMOPLASTIC PAVEMENT MARKINGLINES (4", 90 MILS)	9,817.00	LF	\$1.50	\$14,725.50		\$17,179.75	\$1.75	\$17,179.75
57	THERMOPLASTIC PAVEMENT MARKINGLINES (8", 90 MILS)	357.00	LF	\$3.00	\$1,071.00	\$4.00	\$1,428.00	\$4.00	\$1,428.00
58	THERMOPLASTIC PAVEMENT MARKINGSYMBOL (90 MILS)	25.00	EA	\$34.50	\$862.50	\$200.00	\$5,000.00	\$200.00	\$5,000.00
59	PAINT PAVEMENT MARKING LINES (4")	9,817.00	LF	\$0.50	\$4,908.50	\$1.00	\$9,817.00	\$1.00	\$9,817.00
60	PAINT PAVEMENT MARKING LINES (8")	357.00	LF	\$1.00	\$357.00	\$2.20	\$785.40	\$2.20	\$785.40
61	PAINT PAVEMENT MARKING SYMBOL	12.00	EA	\$50.00	\$600.00	\$45.00	\$540.00	\$45.00	\$540.00
62	REMOVAL OF PAVEMENT MARKING LINES (4")	1,200.00	LF	\$1.00	\$1,200.00	\$1.50	\$1,800.00	\$1.50	\$1,800.00
63	Snowplowable Pavement Markers	65.00	EA	\$115.00	\$7,475.00	\$120.00	\$7,800.00	\$120.00	\$7,800.00
64	6" WATER LINE	567.00	LF	\$78.00	\$44,226.00	\$72.00	\$40,824.00	\$52.00	\$29,484.00
65	8" WATER LINE	580.00	LF	\$88.00	\$51,040.00	\$94.00	\$54,520.00	\$64.00	\$37,120.00
66	DUCTILE IRON WATER PIPE FITTINGS	1,940.00	LB	\$16.00	\$31,040.00	\$9.75	\$18,915.00	\$5.25	\$10,185.00
67	6" VALVE	2.00	EA	\$6,000.00	\$12,000.00	\$1,850.00	\$3,700.00	\$1,700.00	\$3,400.00
68	8" VALVE	3.00	EA	\$8,000.00	\$24,000.00	\$2,750.00	\$8,250.00	\$2,200.00	\$6,600.00
69	GENERIC UTILITY ITEM Reconnect Water Service	2.00	EA	\$2,500.00	\$5,000.00	\$1,350.00	\$2,700.00	\$1,800.00	\$3,600.00
70	ABANDON 6" UTILITY PIPE	462.00	LF	\$8.00	\$3,696.00	\$14.75	\$6,814.50	\$8.00	\$3,696.00
71	ABANDON 8" UTILITY PIPE	708.00	LF	\$9.00	\$6,372.00	\$13.25	\$9,381.00	\$5.00	\$3,540.00
72	12" ENCASEMENT PIPE	82.00	LF	\$300.00	\$24,600.00	\$170.00	\$13,940.00	\$68.00	\$5,576.00
73	16" ENCASEMENT PIPE	52.00	LF	\$230.00	\$11,960.00	\$195.00	\$10,140.00	\$91.00	\$4,732.00
74	BORE AND JACK OF 12"	64.00	LF	\$370.00	\$23,680.00	\$20.00	\$1,280.00	\$550.00	\$35,200.00
75	BORE AND JACK OF 16"	52.00	LF	\$395.00	\$20,540.00	\$150.00	\$7,800.00	\$675.00	\$35,100.00
76	TEMPORARY SILT FENCE	3,220.00	LF	\$2.95	\$9,499.00	\$2.75	\$8,855.00	\$2.75	\$8,855.00
77	STONE FOR EROSION CONTROL, CLASS A	105.00	TON	\$60.00	\$6,300.00	\$60.00	\$6,300.00	\$85.00	\$8,925.00
78	STONE FOR EROSION CONTROL, CLASS B	400.00	TON	\$55.00	\$22,000.00	\$60.00	\$24,000.00	\$95.00	\$38,000.00
79	SEDIMENT CONTROL STONE	285.00	TON	\$45.00	\$12,825.00	\$50.00	\$14,250.00	\$55.00	\$15,675.00
80	TEMPORARY MULCHING	4.00	ACR	\$1,000.00	\$4,000.00	\$750.00	\$3,000.00	\$750.00	\$3,000.00
81	SEED FOR TEMPORARY SEEDING	300.00	LB	\$2.00	\$600.00	\$3.00	\$900.00	\$3.00	\$900.00
82	FERTILIZER FOR TEMPORARY SEED-ING	1.50	TON	\$500.00	\$750.00	\$1,475.00	\$2,212.50	\$1,475.00	\$2,212.50
83	TEMPORARY SLOPE DRAINS	200.00	LF	\$10.00	\$2,000.00	\$43.47	\$8,694.00		\$7,000.00

Bid\_Tab

				FSC II LLC D	BA FRED SMITH				
				COMPANY		BARNHILL CONTRACTING CO		HUDSON PAVING INC	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
84	SILT EXCAVATION	190.00	CY	\$5.00	\$950.00	\$1.00	\$190.00	\$28.00	\$5,320.00
85	MATTING FOR EROSION CONTROL	8,640.00	SY	\$1.25	\$10,800.00	\$1.65	\$14,256.00	\$1.65	\$14,256.00
86	PERMANENT SOIL REINFORCEMENT MAT	305.00	SY	\$6.20	\$1,891.00	\$4.75	\$1,448.75	\$4.75	\$1,448.75
87	1/4" HARDWARE CLOTH	790.00	LF	\$4.00	\$3,160.00	\$3.50	\$2,765.00	\$3.50	\$2,765.00
88	WATTLE	410.00	LF	\$10.00	\$4,100.00	\$10.00	\$4,100.00	\$10.00	\$4,100.00
89	POLYACRYLAMIDE (PAM)	205.00	LB	\$5.00	\$1,025.00	\$20.00	\$4,100.00	\$20.00	\$4,100.00
90	COIR FIBER BAFFLE	45.00	LF	\$5.50	\$247.50	\$7.00	\$315.00	\$7.00	\$315.00
91	SEEDING & MULCHING	6.00	AC	\$1,250.00	\$7,500.00	\$2,520.00	\$15,120.00	\$2,520.00	\$15,120.00
92	MOWING	3.00	ACR	\$175.00	\$525.00	\$200.00	\$600.00	\$200.00	\$600.00
93	SEED FOR REPAIR SEEDING	50.00	LB	\$6.00	\$300.00	\$15.00	\$750.00	\$15.00	\$750.00
94	FERTILIZER FOR REPAIR SEEDING	0.25	TON	\$1,300.00	\$325.00	\$1,475.00	\$368.75	\$1,475.00	\$368.75
95	SEED FOR SUPPLEMENTAL SEEDING	100.00	LB	\$6.00	\$600.00	\$12.00	\$1,200.00	\$12.00	\$1,200.00
96	FERTILIZER TOPDRESSING	2.75	TON	\$500.00	\$1,375.00	\$1,475.00	\$4,056.25	\$1,475.00	\$4,056.25
97	SPECIALIZED HAND MOWING	10.00	MHR	\$45.00	\$450.00	\$90.00	\$900.00	\$90.00	\$900.00
98	RESPONSE FOR EROSION CONTROL	25.00	EA	\$100.00	\$2,500.00	\$400.00	\$10,000.00	\$400.00	\$10,000.00
99	CONCRETE WASHOUT STRUCTURE	2.00	EA	\$1,500.00	\$3,000.00	\$1,150.00	\$2,300.00	\$2,750.00	\$5,500.00
					\$2,292,000.00		\$2,345,650.90		\$2,889,252.50

Bidder No. 1: FSC II LLC DBA FRED SMITH

COMPANY

Bidder No. 2: BARNHILL CONTRACTING CO

Bidder No. 3: HUDSON PAVING INC

Bid\_Tab Page 4 of 4